Lo oty VTGS At the L

ANSHIKA HOTTR Al3g 0
Y;ﬁ \ O W ’ \ \; ‘)‘ l), f\t

— wooron [

Chapter- 3 o
ADDITION

WORKSHEET

Q1. Add the following:
a) 98+0= A%

Q2. Find the successor of the following
a) 159= |60

Q3. Addition of 2-digit numbers (without carry over)

TO ¥ 0
1) a1 2) 31
+42 +24
83 58
Q4. Addition of 2-digit numbers (with regrouping)
H:T10 TO
06 2)047
£ 17 3345
15 w2
Q5. Addition of 1 digit with 3-digit numbers (with regrouping)
1) HIO : HTO
U6 2) 844
+ 7 S AP
AP e ————TT
533 850

Q6. . Addition of 2 digit with 3-digit numbers (with regrouping)

HTO
. dy;%(; 2) 5043

+ 38 + 49
¥oa B
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Q7. Addition with 3

-digit numbers (with regrouping)

1) 10 0
<93‘ 5 2)®:§ 8

+286 +4 9 ¢
66 qOLf

. 5 many marks
Q8. Kabir gets 43 marks in the first test. He gets 35 marks in the second test. How y
does he get in all?

- : S?
Q8. If one number is 390 and the other number is 60. What is the sum of those two number:

Q10. Lucy went to the grocery store. She bought 12 packs of cookies and 16 packs of noodles.
How many packs of groceries did she buy in all?
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%) One numben s 390
‘-’tﬁcm nwicn. 'S 60

3 thgsu.m of both aumber is Y
0, the

P"‘"l“ of noodles = 154
rarbez ofF onocenies = 28

——

o,w numbea of 9no<.euies she bou,ght r' S 23.
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